
One Mark Questions (Class-10th) 

 

1. ABwj guxnKMf ru`K nUM pUrw krn leI KwlI QW iv̀c FukvIN sMiKAw Bro[ 
Fill the blank with suitable number to complete the factors tree. 

 
 

2. AwlyK qoN bhupd dy isPrW dI igxqI pqw kro : 
Find the number of zeroes from the graph.     

                      (a) 0              (b) 1              (c) 2                 (d) 3 
  
     3.  AP  -5, -1, 3, 7,..........iv̀c a Aqy d pqw kro[ 
          Find a and d in the AP  -5, -1, 3, 7,.......... 
     4.  jy iqMn ibMdU  A,B,C smryKI hox qW,  iqRBuj ABC dw Kyqr&l ……………vrg iekweIAW huMdw hY[  If three 
points A,B anc C are collinear then area of triangle ABC will be……………. 

    5. iksy vI kox θ dy leI sin θ = 
ସ

ଷ
  (shI jW glq) For any angle θ, sin θ = 

ସ

ଷ
 (True/False ) 

   
    6. ArD ivAws R vwly c`kr dy ArD ivAwsI KMf dI cwp dI lMbweI ijsdw kox p0 hY, hyT ilKy Anuswr hY: 
What is the length of arc of the sector with central angle p0 and radius R? 

                    a)  ௣

ଵ଼଴
× 2𝜋𝑅             (b)  ௣

ଷ଺଴
× 𝜋𝑅          (c)  ௣

ଵ଼଴
× 𝜋𝑅ଶ        (d )  ௣

ଵ଼଴
× 𝜋𝑅      

   7. ibMdUAW (a, b) , Aqy (-a, -b) iv`c dUrI pqw kro[Find the distance between (a,b) and (-a,-b). 
  
   8.  ………… Gtnw dI sMBwvnw 0 hY[Probability of ………..event is 0. 
 

9. jykr a Aqy  b Dnwqmk sMiKAwvW hox qW (If a and b are positive numbers then): 
HCF (a, b) x LCM (a, b) =…………… 

       (a) a x b                     (b) a + b                (c) a – b                       (d) a/b 
 
10. jykr bhupd dI Gwq…… hovy qW auh ryKI bhupd hY[ 

If the power of a polynomial is ….… then it is called linear polynomial. 
 
11. kI lVI 2,4,8,16……….. A.P  hY?jykr hY qW sWJw AMqr pqw kro[ 

Is 2,4,8,16……….. A.P? If yes then what is the common difference. 
 
12. jykr iqRBuj ABC dw Kyqr&l 0 vrg iekweIAW hY qW  iqMn ibMdU  A,B,C ………hoxgy[ 

If the area of triangle ABC is 0 then three points A,B,C are……….  
 
13. mu`l pqw kro(Find the value):  Cos 480 – Sin 420 
 
14. iksy c`kr dy c`krKMf dw KyqrPl AnuswrI ArD ivAwsI KMf dy KyqrPl qoN G`t huMdw hY[(shI jW glq) 
   The area of segment of a circle is always less then the area of corresponding sector. (True/False) 
15. jdoN iksy ie`k Tos vsqU nUM dUjy Tos vsqU iv`c bdilAw jWdw hY qW ausdw Awieqn……  



    When a solid item is converted into other solid item then is volume……. 
            (A)  v`Ddw hY(increases)       (B)  G`tdw hY(decreases)             (C) bdldw nhI(does not change)       
(D) du`gxw huMdw hY(becomes double)      
   
16. iksy Gtnw dI sMBwvnw kdy vI irxwqmk nhI huMdI[(shI jW glq) 
     The probability of any event can not be negative. (True/False) 
 
17. θ dy v̀Dx nwl cos θ dw mul̀ vI vD̀dw hY[(shI jW glq) 

The value of cos θ increases when θ increases. (True/False) 
 
18. ibMdUAW A (–2, 8) Aqy B (– 6, – 4)  nUM imlwaux vwly ryKw KMf dw m`D ibMdU hovygw: 

What will be the midpoint of the line segment made by joining the points A(-2,8) & B(-6,-4)? 
                 (A) (– 4, – 6)      (B) (2, 6)           (C)  (– 4, 2)           (D) (4, 2) 

19. kI lVI a,2a,3a,4a,…………… A.P hY?jykr hY qW sWJw AMqr pqw kro[   

    Is a,2a,3a,4a,…………… A.P? If yes then find the common difference. 

20.  AwlyK qoN bhupd dy isPrW dI igxqI pqw kro :   
     Find the number of zeroes from the graph.   
                      (a) 0                 (b) 1               (c) 2                 (d) 3  
 
21.  hr ie`k Bwj sMiKAw nUM ABwj sMiKAwvW dy guxnPl dy rUp ivc̀ drswieAw jw skdw hY[ (shI jW glq) 
   Every composite number can be expressed as product of prime numbers.      (True/False)                                                                           
 
22. jykr ie~k c~kr dw pirmwp Aqy KyqrPl sMiKAwqmk rUp iv~c brwbr hY,qW aus c~kr dw ArD ivAws 
hY: 

  If the area and circumference of a circle are equal in magnitude then what will be the radius of this 
circle?    

    (a) 2 iekweIAW(Units)  (b) π iekweIAW(Units)     (c) 4 iekweIAW(Units)   (d) 7 iekweIAW(Units)  

23. SMkU dy Awieqn dw sUqr ilKo[ What is the formula to find the volume of a cone? 
 
24. jykr P(E)=0.05 hY qW ‘E nhIN’dI sMBwvnw kI hY ? If P(E)=0.05 then what is the probability of ‘not E’? 

25. hyT iliKAW ivc̀oN ikhVI sMiKAw iksy Gtnw dI sMBwvnw nhIN ho skdI? 
   Which of the following can not be the probability of any event? 
                    (a) ଶ

ଷ
                      (b) 0.7                (c) −1.5              (d) 15% 

26. ie`k Gxwv dy ku`l sqHw dy KyqrPl dw sUqr ilKo[ Write the formula to find total surface area of a 
cuboid. 
 
27. c`kr nUM do ibMdUAW ‘qy k`tx vwlI ryKw nUM…………kihMdy hn[ 
   The line which cut the circle at two points is called……….. 
 

28. mu`l pqw kro(Find the value)  ∶  
ୗ୧୬ଵ଼బ

େ୭ୱ ଻ଶబ 



 
29. cqurBuj ABCD dw Kyqr&l 0 vrg iekweIAW hY qW   ibMdU  A,B,C,D ……………hn [ 
   If the area of quadrilateral ABCD is 0 then points A,B,C and D are……………. 
 
30.  AP   0.6, 1.7 ,  2.8 , 3.9 ,……….dw pihlw pd a Aqy  sWJw AMqr d pqw kro[  

      Find the first term a and common difference d of the AP   0.6, 1.7 ,  2.8 , 3.9 ,……… 

 

 31. do GwqI bhupd dy v̀D qoN v`D 2 jd ik iqMn GwqI bhupd dy v`D qoN v`D 3 isPr huMdy hn[  (shI jW glq) 
   There are maximum 2 roots of quadratic equation and maximum 3 roots of cubic equation. (True/False)                                                                            
32. ABwj guxnKMf ru`K nUM pUrw krn leI KwlI QW iv̀c FukvIN sMiKAw Bro[ 
  Fill in the blank to complete the factor tree. 
 
 

 

33. iksy pirmyX sMiKAw  ௣
௤
 dw dSmlv rUp SWq huMdw hY,jdoN q dy guxnKMf…………rUp iv`c hox[ 

      The decimal form of a rational number  ௣
௤
  is terminating if the factors of q will be of the form………             

              (a) 2m×3n                       (b) 2m×7n                    (c) 2m×5n             (d) iehnW iv̀coN koeI nhI 
34. do GwqI bhupd dI Gwq ………… huMdI hY[ The power of the quadratic polynomial is…….. 
 
35. kI lVI √3,     √6,    √9, √12........ AP hY?  Is √3,     √6,    √9, √12........ AP? 
 
36. ibMdUAW (-5, 4)  Aqy (7, 8)  nUM imlwaux vwly ryKw KMf dy m`D ibMdU dy inrdyS AMk d`so[ 
    Find the coordinates of the mid point of the line segment made by joining the points (-5,4) and 
(7,8)                                 
        (a)   (1, -6)              (b)   (1, 6)                (c)   (6, 6)               (d )   (-1, 2) 
 
37. θ dy v`Dx nwl sin θ dw mu`l vI v`Ddw hY[        (shI jW glq) 
     Value of sin θ increases when value of θ is increases.        (True/False) 
 
38. ArD ivAws R vwly ck̀r dy ArD ivAwsI KMf dw KyqrPl ijsdw kox p0 hY,hyT ilKy Anuswr hY: 
   What is the area of the sector whose central angle is p0 and radius is R?   
        a)  ௣

ଵ଼଴
× 2𝜋𝑅           (b)  ௣

ଷ଺଴
× 2𝜋𝑅         (c)  ௣

ଵ଼଴
× 𝜋𝑅ଶ             (d )  ௣

଻ଶ଴
× 2𝜋𝑅ଶ    

   
39.  ie`k gyNd dI Skl ikho ijhI huMdI hY :  (What is the shape of a ball)     
      (A) SMkU vrgI (Like a cone)        (B) Gx vrgI (Like a cube)        (C) vyln vrgI(Like a cylinder)          
(D) goly vrgI   (Like a sphere) 
        
40. hyT ilKy kQn nUM pUrw kro: 

     Gtnw E dI sMBwvnw + Gtnw ‘E nhI’ dI sMBwvnw=…………hY[ 

  Complete the following statement: 

    Probability of event E + Probability of event ‘not E’ = …………… 


